Front Shrouds

Panther

Note: Shroud Assemblies include Carpet with Hook and Loop and Hardware.

Panther LX4

Panther MX4




Front Shrouds

Panther
ltem Quantity Per
Number | Note | Part Number |Description Package | Assembly
1 1088689-NLA | NLA - Carpet with Hook and Loop 1 1
1 1088690-NLA | NLA - Carpet with Hook and Loop 1 1
2 1088710-NLA | NLA - Boot 1 1
3 1088681-NLA | NLA - Shroud w/Carpet and Hardware, Candy Red 1 1
3 1088682-NLA | NLA - Shroud w/Carpet and Hardware, Metallic 1 1
Green
3 1088683-NLA | NLA - Shroud w/Carpet and Hardware, Deep Blue 1 1
3 1104158-NLA | NLA - Shroud with Carpet and Hardware - Panther 1 1
LX4 - Magic Black
4 1088684-NLA | NLA - Shroud w/Carpet and Hardware, Champagne 1 1
A 1088797-NLA | NLA - Hardware, Shroud - Panther LX4 1 1
Includes: 2 each Plate Nut, U Type
4 each Washer (6 x 18 x 1.6)
4 each Washer, Spring (6 x 10)
4 each Screw (M6 x 1.0 x 20)
A 1091140-NLA | NLA - Hardware, Shroud - Panther MX4 1 1
Includes: 3 each Washer (4 x 12 x 0.8)
1 each Screw (M4 x 0.7 x 80)
1 each Nut (M4 x 0.7 x 7)
1 each Spring
2 each Washer (4 x9x 1)
1 each Nut, Self-Lock (4 x 0.7 X 7)
2 each Screw (M6 x 1.0 x 20)
2 each Washer, Spring (6 x 10)
2 each Washer (6 x 18 x 1.6)

NOTE: A - Not Shown




